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1: X < In an examination, 70% passed in English and
c ™ 65% in Mathematics. 27% students failed in
both the subjects. If 248 students passed both

@ the subjects then find the total number of

students?
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» 80% in mathematics, 70% in an exam. Passed
in English while 10% students failed in both.
If 144 students pass both the subjects then

what is the total number of students ?
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In a certain office, 72% of the workers
prefer cold drink and 44% prefer tea. If each
of them prefers cold drink or tea and 40 like
both, then the total number of workers in
the office is -

)250 (b) 240
(c) 220 | (d) 210




N | R — | I

“ In a company, 55% workers like tea, 45%
coffee, 40% milk while 20% like both tea and
milk, 20% coffee and milk, 25% like tea and

coffee. 15% workers like all three beverages.
Tell the percentage of workers who do not

like any of the three ?
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* In an examination, 40% students failed in

.,

Hindi, 50% students failed in English. If 21%
students failed in both the subjects, find the

percentage of those who passed in Hindi ?
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“ On adding 25% of that number to a
number, the new number is 180, then
what is the initial number ?
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On adding 12.5% of that number to a

number, the new number is 441, then find

the original number ?
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d)Noneof these
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o If 14; % of that number is subtracted from
a number, the new number is 420, then
find the original number ?
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c) 470
d) Noneof these
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< If the numerator of a fraction y/x is increased

i-c

4
A

% 3/ g P by 12% and the denominator is decreased by
Y 4

|

2%, then the value of that fraction becomes

o
AN
>

6/7, then find the original fraction ?
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d) None of these

“T.Y canoronar sroome. . eyreeew BB




N | — | I

7

< Increasing the numerator of a fraction by

50% and decreasing the denominator by
¢W £X }f 10% gives 15/16. Find the fraction ?
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d)None of these
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A student had to multiply 34/39 by 3/7

] but by mistake he multiplied 9/14 in that
S X@ > v fraction then find the percentage
A ) correctness in h|s answer ?
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